
3 4 5

                      
Assembly Instructions
  IT Mount - Universal VESA mount SKU: SMP01

Sheet 1 of 3

5
127mm
 ”

8
203.2mm

www.compulocks.com | online@maclocks.com | +1 800-948-0344 ©Compulocks Brands Inc. All Rights Reserved.j 

1 2

 ”

IDENTIFY THE FIXING AREA, 
AND CLEAN 

WITH ALCOHOL PADS PROVIDED

PEEL COVER 
TO EXPOSE 
ADHESIVE PAD

PEEL COVER 
TO EXPOSE 
ADHESIVE PAD

INSTALL MOUNT, 
CENTERED 

ON THE CLEANED AREA

ACHIEVES FULL STRENGTH 
AFTER 12 HOURS

REMOVE MOUNT FROM DEVICE 
BY REMOVING M4 PIN TORX SCREWS 
USING PROVIDED T-15 SCREWDRIVER

INSTALL MOUNT ON 
ANY 100mm VESA COMPATIBLE STAND OR ARM 

USING PROVIDED M4x10mm PHILLIPS PAN HEAD SCREWS

RISE POLE STAND SHOWN



7 8

                      
Assembly Instructions
  IT Mount - Universal VESA mount SKU: SMP01

Sheet 2 of 3www.compulocks.com | online@maclocks.com | +1 800-948-0344 ©Compulocks Brands Inc. All Rights Reserved.j 

6

  ROUTE POWER CABLE
  THROUGH MOUNT
AND STAND

  ATTACH POWER CABLE
TO DEVICE

  RE-ATTACH DEVICE TO MOUNT
  WITH M4 PIN TORX SCREWS

USING PROVIDED T-15 SCREWDRIVER

  IT MOUNT CAN FIX TO ANY
LAPTOP OR TABLET

  IT MOUNT IS COMPATIBLE WITH ANY
100mm VESA STAND, ARM OR MOUNT



                      
Assembly Instructions
  IT Mount - Universal VESA mount SKU: SMP01

Sheet 3 of 3www.compulocks.com | online@maclocks.com | +1 800-948-0344 ©Compulocks Brands Inc. All Rights Reserved.j 

Compatible With All Compulocks’ Stands 



Assembly Instructions
Adjustable SKU: 147B

©Compulocks Brands Inc. All Rights Reserved.j www.compulocks.com | online@maclocks.com | +1 800-948-0344 Sheet 1 of 2

iPad Enclosure Not Included

39” 45”

A M4 x 8mm Pan Head Phillips Machine Screw 4

B 1/4”-20 x 1-3/4” Pan Head Phillips Machine Screw 2

C 1/4”-20 x 3-3/4” Pan Head Phillips Machine Screw 2

D #8-16 x 1/2” Pan Head Phillips Self Threading Screw 

E Upper Mounting Bracket (100mm) 1

F Riser Skirt Upper / Lower 2

G Riser Spacer 6

H Aluminum Riser 1

Cast Iron Base 1

J Adhesive Backed Rubber Foot Pad 3

I

6

A

B
C

D

E

F

G

H

F

G

I

J

B
C

D

Item    Description                                                    Qty



7

4 5

8 9

6

321

Assembly Instructions
Adjustable SKU: 147B

©Compulocks Brands Inc. All Rights Reserved.j www.compulocks.com | online@maclocks.com | +1 800-948-0344 Sheet 2 of 2

D - #8-16 x 1/2” Pan Head Phillips Self Threading Screw. B - 1/4”-20 x 1-3/4” Pan Head Phillips Machine Screw. C - 1/4”-20 x 3-3/4” Pan Head Phillips Machine Screw.

D - #8-16 x 1/2” Pan Head Phillips Self Threading Screw. B - 1/4”-20 x 1-3/4” Pan Head Phillips Machine Screw. B - 1/4”-20 x 3-3/4” Pan Head Phillips Machine Screw.

Installation of Recommended C7 Power 
Cord to iPad USB 30 Pin Power Adapter. 

Installation of Optional iPad security 
Combination / Key Cable Locks.

iPad Enclosure 
Not Included

Installation of Optional iPad Enclosure 
Shown. Use the M4 x 8mm Screws. 


	IT Mount instructions combined (1)
	Adjustable stand instructions combinePDF (1)

